

$$\textcircled{1} \quad y(x) = \sum_{n=0}^{\infty} a_n x^n \quad y'(x) = \sum_{n=1}^{\infty} n a_n x^{n-1} = \sum_{n=0}^{\infty} (n+1) a_{n+1} x^n$$

$$y''(x) = \sum_{n=2}^{\infty} n(n-1) a_n x^{n-2}, \infty$$

~~$$(x-1)y''(x) = \sum_{n=2}^{\infty} n(n-1) a_n x^{n-1} - \sum_{n=2}^{\infty} n(n-1) a_n x^{n-2}$$~~

$$= \sum_{n=1}^{\infty} (n+1) n a_{n+1} x^n - \sum_{n=0}^{\infty} (n+2)(n+1) a_{n+2} x^n$$

Thus, $(x-1)y'' + y' + y$

$$= \sum_{n=1}^{\infty} (n+1) n a_{n+1} x^n - \sum_{n=0}^{\infty} (n+2)(n+1) a_{n+2} x^n + \sum_{n=0}^{\infty} (n+1) a_{n+1} x^n + \sum_{n=0}^{\infty} a_n x^n$$

$$= \sum_{n=1}^{\infty} [(n+1) n a_{n+1} - (n+2)(n+1) a_{n+2} + (n+1) a_{n+1} + a_n] x^n$$

$$- 2(1) a_2 + a_1 + a_0 = 0.$$

Thus, $a_2 = \frac{a_0 + a_1}{2}$, and,

$$a_{n+2} = \frac{(n+1)^2 a_{n+1} + a_n}{(n+2)(n+1)} \quad \text{for } n \geq 1$$

$$\textcircled{2} \quad a_0 = 1, a_1 = 0, \infty a_2 = \frac{1+0}{2} = \frac{1}{2},$$

$$a_3 = \frac{2^2 \left(\frac{1}{2}\right) + 0}{6} = \frac{1}{3}, \quad a_4 = \frac{3^2 \left(\frac{1}{3}\right) + \frac{1}{2}}{12} = \frac{7}{24}$$

Thus,

$$y(x) \approx 1 + \frac{1}{2} x^2 + \frac{1}{3} x^3 + \frac{7}{24} x^4$$